#### **CENLANA ASC Meeting**

#### Central Louisiana Area of Narcotics Anonymous Area Service Committee Meeting

#### Meeting convened at 12:20 pm on 03-20-2021

The meeting was opened by Jack H. with a moment of silence followed by the Serenity Prayer.

Ashley read the 12 Traditions and Joe read the 12 Concepts.

#### **Administrative Service Committee**

Chairperson- Jack H.	Present	X34X8X5X4XX93X34
Vice Chair- Dustin	Present	(8X8)\928\0226
Treasurer- Doug F.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Secretary-	Vacant	
	Subcommittees	
H & I- Trevis J.	Present	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
PR- Trevis J.	Present	(XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
Literature- Robbie L.	Present	<b>XXX6X</b> XXXXXXXX
Policy- Ashley C.W.	Present	(8XX)XX94X9306
ASR- Robbie L.	Present	(8XX)X2001X9X368
ASRA- Jack H.	Present	<b>(34) 8) 54/149334</b>
Activities - Ashley C.W.	Present	<b>X308XXXXXXX</b>

#### **Group Service Representatives**

Group		Voting	Host
Clean & Serene	Dustin	Yes	Feb.
Jones Street	Joe F.	Yes	Mar.
New Life Group	John P.	No	April.
No Matter What	Greg H.	Yes	Мау.
Talking Heads	Doug F.	Yes	June.
The Addict Family	Frank A.	Yes	July.
Zoo Krew	Malcolm B.	Yes	Aug.

Secretary's Report: GSR's and Subcommittees read in silence for any corrections and then motion to approve report.

**Treasurer's Report:** (see Doug for any questions)

Treasurer reading report to ASC to submit

Motion was made to accept the Treasurer's report.

The Treasurer's report was accepted by ASC.

#### **Subcommittee Reports:**

H & I: Trevis read the report (report attached) Public Relations: Trevis read the report (report attached) Literature: Robbie read the report (report attached) Policy: Ashley read the report (report attached)

Robbie read the report (report attached) Activities: Ashley read the report (report attached)

#### **GSR Reports:**

ASR:

Clean & Serene: Dustin read the report (report attached) Jones Street: Joe F. read the report (report attached) New Life Group: John P. read the report (report attached) No Matter What: Greg H. read the report (report attached) Talking Heads: Doug F read the report (report attached) The Addict Family: Frank A read the report (report attached) Zoo Krew: Malcolm B read the report (report attached)

Old Business: (New or unresolved business from last ASC meeting).

Pam has resigned from secretary position. This opening should be mentioned to homegroups. Robbie L brought motion to make a phone list for newcomers or to add the words "phone numbers" on the back of the meeting lists. ASC decided this was not an area matter, but could be done on a homegroup or individual level. Dustin brought motion for a new subcommittee for cleaning the clubhouse. This was passed and will now go to homegroups. Robbie L brought a motion to set up IP's in treatment centers and post flyers with information on how to obtain literature. Motion did not pass, but the subcommittee will meet to discuss making literature available to facilities.

#### **New Business:**

It was brought to the attention of ASC that the meetings at high noon may no longer be NA meetings. All agreed to investigate by attending when possible. Robbie L resigned from literature, H & I and his ASR position. This will move Jack H from ASRA to interim ASR. Dustin E will now be the ASC interim chair. The next Regional sub committee meeting will be via zoom on April 11. Other members of ASC will assist Jack H for his first regional meeting.

#### **Elections:**

Greg H. nominated and elected as Interim Literature Chair. Gsr's to bring back to their groups the opening for Area Secretary.

#### **Announcements:**

Activities hosting a crawfish boil Sunday April 11th 12 pm at the Buhlow Lake recreation area. New Life Group to host the next Area Saturday April 17th at the No Limit 4 Recovery Clubhouse at 12 noon.

#### Final Treasurer's Report:

Presented and read by Doug F. (See Doug for details) Motion made to accept final Treasurer's Report. All in favor. Motion to close, all in favor.

Meeting adjourned at 1:45pm

Deposit Date / A		711 /21	\$ 90,00		20-21 AVAILABLE BALAN	ICE		\$	
Ending Balance F	rom		\$ 2 2 2 7.3						
Bank Balance		<u> </u>	\$2193.62		Donations/ Group	)		Amount	1
			0.75		NOMAH			\$ 20,00	1
Outstanding che	cks				Cleanas	ereve	The state of the s	\$ 40,00	1
Description	Check #	Date	Amount		Cleans Addicts New LI Acts, 1	Family		\$ 5.00	1
None					New LI	LP8		\$ 10.00	1
					Acts, 0	1 opies		\$ 15,00	
								\$	
								\$	
							Total	\$ 90.00	(-
		Total:	\$	(-)	Funds Claimed	Date	Check #	Amount	1
				1	Prudent Reserve			\$	
Funds Held Aside	•	Plus/Minus	<b>Totals Aside</b>		Activities			\$	
Prudent Reserve	\$150				H & I			\$	1
Activities	\$400			1	P. R.		0	\$	1
H&I	\$50				Secretary			\$	
P. R.	\$30				RSC Travel			\$	1
Secretary	\$30				Literature			\$	
RSC Travel	20050							\$	1
Literature	\$0			-	,		Total	\$	(-
					Ending Funds Held	4	1000	\$	(4
	\$ 860		\$ 060,00				T	7	10
	2600		3860,00	(-)	<del> </del>		Ct L.H		-
			T	1	Money In/Out: Re		Check#	Amount	-
Expenses	4.0 ==	Date f	Amount		Rent Rent	TOP	1387	\$20.00	-
Hotline	\$13.75		\$				1389	\$ 20.00	
Rent	\$20	2-30-21	\$		Italtine		Auto)	\$13.75	
Bank Fee/			\$					\$	
REN	3/20	3-18-21	\$					\$	
		Total	\$53,75	(-)			Total	\$ 53,75	(+
Funds on Hand			\$2193.62		RSC Donation 20%		Total	\$	(-
AVAILABLE BALA	NCE		\$1333,62		Working Balance	\$1333,66	Ending Balance	\$2183.62	İ
NOTES:					1	¥		!	
									-
				-					Ì

CASH MANAGEMENT | CHECKING | MONEY MARKET | CDs | LOANS

▶ Contact your Relationship Manager to discuss targeted solutions for your evolving business needs.

CENTRAL LA AREA OF NARCOTICS ANONYMOUS **2130 POLK ST ALEXANDRIA LA 71301** 

**ACCOUNT SUMMARY** 

FOR PERIOD FEBRUARY 01, 2021 - FEBRUARY 26, 2021

Spark Basic Checking	FIRST STATE		ICS ANONYMOUS
Previous Balance 01/31/21	\$2,390.77	Number of Days in Cycle	26
0 Deposits/Credits	\$0.00	Minimum Balance This Cycle	\$2,157.37
2 Checks/Debits	(\$233.40)	Average Collected Balance	\$2,228.96
Service Charges	\$0.00		
Ending Balance 02/26/21	\$2,157.37		

ACCOUNT DETAIL FOR PERIOD FEBRUARY 01, 2021 - FEBRUARY 26, 2021

Spark Basic Checking	
----------------------	--

**CENTRAL LA AREA OF NARCOTICS ANONYMOUS** 

CENTRAL LA AREA OF

Date	Description	Deposits/Credits	Withdrawals/Debits	Resulting Balance
02/09	Check 1385	•	\$219.65	\$2,171.12
02/19	ACH Withdrawal FreedomVoice 8004771477 021921 Glenn Gillard 036-0046104472		\$13.75	\$2,157.37
Total		\$0.00	\$233.40	

#### Spark Basic Checking (1988)

**CENTRAL LA AREA OF NARCOTICS ANONYMOUS** 

Checks ' de	esignates gap in	check sequence						
Check No.	Date	Amount	Check No.	Date	Amount	Check No.	Date	Amount
1385	02/09	\$219.65						

Thank you for banking with us.

PAGE 1 OF 2



#### **H&I Area Report**

H&I still continues monthly meetings at Gateway on the 1<sup>st</sup> Saturdays of the month from 6:30 to 7:30pm and the proceeding Saturdays are speaker meetings from N.A. members with 1 or 2 addicts sharing their own story and still keep within the traditions of N.A. We also have H&I meetings at the Red River Treatment Center in Tioga on the 1st Tuesdays from 6:30-7:30pm and a speaker meeting on the 3<sup>rd</sup> Tuesdays of every month. Both facility meetings are going well with no major issues and I have plenty of literature for both meetings. We still need to practice social distancing and mask requirements per facility and state guidelines. I would like to thank all those who are a part of this vital service to reach the still sick and suffering addict.

Respectfully Submitted Trevis J H&I Chair

#### P.R. Area Report

#### Greetings members,

I have updated the meeting schedule that are at the clubhouses in our Area. We are still in the process of trying to get H&I in one of our detention facilities and I will keep the Area updated on the progress once I get more details. Our meetings have been updated on the main data base which is mainly reflected on our local and regional websites larna.org and cenlana.org. There is still an issue with the updated information flowing to the na.org meeting search data base. Richard is working to resolve that. Thank you for allowing me to be of service.

Respectfully Submitted Trevis J P.R. Chair

#### Final Literature Report by: Robbie L. 03/2021

My Name is Robbie L. and I am an addict,

I have turned all literature and reporting over to Trevis J. Vice Chair, due to my recent relapse. I will be stepping down from my service position, as I do not have the consistent clean time requirement to serve as the Literature chair.

There was -\$2+. Owed to me for the literature I ordered before turning all supplies over to Trevis. I supplied him with all Invoices as well as balancing spreadsheets to account for all finatal actions with the literature.

As I depart from this position i would like to nominate an Interim successor. Greg H.

He has the working knowledge of properly managing finances and a successful business to show for it. He has the capability to show accurate and transparent reporting for the literature transactions and a strong desire to be of service. I feel he would be a vital asset in our current fellowship and as the Interim Literature Chair.

#### **Literature Area Report**

#### Greetings members,

I received \$295.37 worth of literature from Robbie on 3-9-21 with a \$166.00 order due. That order has since arrived and I now have \$361.54 of worth of literature on hand after the sale of \$70 of literature which is the amount that I am turning into Area along with the invoice from the literature order and all the other inventory and sales sheets. I also sold an additional \$24 worth of literature at Area which will be the total amount of cash on hand to turn over to the new interim literature chair with \$361.54 worth of literature. Thank you for allowing me to be of service.

Respectfully Submitted Trevis J Literature Vice Chair

#### Main Monthly Inv. Report

Date:

3-20-21 Final Mountary from Trevis handry lit over to Gres H

Item	Quantity	Cost		Co	<b>Cost Total</b>		Sale Price		Sales Total	
Basic Text	2	\$	12.15	\$	24.30	\$	14.00	\$	28.00	
Guiding Principles	3	\$	11.65	\$	34.95	\$	14.00	\$	42.00	
It Works How & Why	3	\$	9.55	\$	28.65	\$	12.00	\$	36.00	
Living Clean	2	\$	10.35	\$	20.70	\$	12.00	\$	24.00	
Just for Today Meditaton	2	\$	9.55	\$	19.10	\$	12.00	\$	24.00	
Step Working Guide	3	\$	9.00	\$	27.00	\$	11.00	\$	33.00	
NA White Book	24	\$	0.80	\$	19.20	\$	2.00	\$	48.00	
Totals:				\$	173.90			\$	235.00	

Cash	-	
On Hand	\$	
Literature Sold	\$	94.00
Recieving	\$	
Turning in	\$	70.00
Special Orders		
Total on Hand	\$	24.00

#### Tag / Medallion / Chip

rags					
White	45	\$ 0.56	\$ 25.20	\$ 0.65	\$ 29.25
30Day	29	\$ 0.56	\$ 16.24	\$ 0.65	\$ 18.85
60Day	25	\$ 0.56	\$ 14.00	\$ 0.65	\$ 16.25
90Day	40	\$ 0.56	\$ 22.40	\$ 0.65	\$ 26.00
6Months	17	\$ 0.56	\$ 9.52	\$ 0.65	\$ 11.05
9Months	20	\$ 0.56	\$ 11.20	\$ 0.65	\$ 13.00
1Year	54	\$ 0.56	\$ 30.24	\$ 0.65	\$ 35.10
18Months	14	\$ 0.56	\$ 7.84	\$ 0.65	\$ 9.10
2+ Years B&G	0	\$ 0.56	\$ -	\$ 0.65	\$ 

Chips					
White	0	\$ 0.40	\$ •	\$ 0.50	\$ •
Medallion	15	\$ 3.40	\$ 51.00	\$ 5.00	\$ 75.00
Totals:			\$ 187.64		\$ 233.60
Sub Totals:			\$ 361.54		\$ 468.60

#### I.P. Purchase

Main Monthly Inv. R	eport				/		1	1 thre		
		En	nl	tru	mory	1	Mu	n Robbre		
Date:										
Item	Quantity	Cost	Cost 1	<b>Total</b>	Sale Pric	ce	Sale	s Total	Cash	
Basic Text	3	\$ 12.15	\$	36.45	\$ 1	4.00	\$	42.00	1	
Guiding Principles	1	\$ 11.65	\$	11.65	\$ 1	4.00	\$	14.00	On Hand	\$ -
It Works How & Why	3	\$ 9.55	\$	28.65	\$ 1	2.00	\$	36.00		
Living Clean	0	\$ 10.35	\$	-	\$ 1	2.00	\$	-	Turning In	\$ -
Just for Today Meditaton	2	\$ 9.55	\$	19.10	\$ 1	2.00	\$	24.00		
Step Working Guide	3	\$ 9.00	\$	27.00	\$ 1	1.00	\$	33.00	Recieving	\$ 
NA White Book	12	\$ 0.80	\$	9.60	\$	2.00	\$	24.00		
Totals:			\$	132.45			\$	173.00	Literature Sold	\$ 166.00
Tag / Medallion / Chip									Special Orders	
Tags									Total on Hand	\$ -
White	21	\$ 0.56	\$	11.76	\$	0.65	\$	13.65		
30Day	29	\$ 0.56	\$	16.24	\$	0.65	\$	18.85		
60Day	25	\$ 0.56	\$	14.00	\$	0.65	\$	16.25		
90Day	40	\$ 0.56	\$	22.40	\$	0.65	\$	26.00		
6Months	12	\$ 0.56	\$	6.72	\$	0.65	\$	7.80		
9Months	17	\$ 0.56	\$	9.52	\$	0.65	\$	11.05		
1Year	54	\$ 0.56	\$	30.24	\$	0.65	\$	35.10		
18Months	14	\$ 0.56	\$	7.84	\$	0.65	\$	9.10		
2+ Years B&G	0	\$ 0.56	\$	-	\$	0.65	\$	-		
Chips										
White	0	\$ 0.40	\$	_	\$	0.50	\$			
Medallion	13	\$ 3.40	\$	44.20	\$	5.00	\$	65.00		
Totals:			\$	162.92			\$	202.80		
Sub Totals:			\$ 2	295.37			\$	375.80		

#### **Inventory Totals Report**

Date Totaled:

3-19-21

item	Quantity Sold	Co	st	Total Cost	Person/Group Sold To	Date
Basic Text	1	\$	14.00	SILY	mar m	3-15-21
Guiding Principles		\$	14.00			
It Works How & Why		\$	12.00			
Just For Today Meditation		\$	12.00			
Living Clean		\$	12.00			7-1- 1
Step Working Guide	1	\$	11.00	111	mar m	3-15-4
NA White Book		\$	2.00			2 - 10 -11
BASIZ TELL	2	A	14.00	128	Hewcomer	7-10-41 7-10-41 3-21-41
Step working buile	1	M	11.00		Nevamer	7 20-21
step whom buile	1	6l	11.00	9/1/	No inaffer What	3-70-4
SKI WITTE						
Totals:				375		<u> </u>

#### Tag / Medallion / Chip

Tags		T.	0.05			
White		\$	0.65			
30Day		\$	0.65			
60Day		\$	0.65			
90Day		\$	0.65			7-20-21
	5	\$	0.65	3.25		
6Months		\$	0.65	7-25		3-20-21
9Months		\$	0.65			
1Year		\$	0.65			
18Months	1 (2)		0.65	\$16.50	No mather what	3-20-21
Muliple Years	10	\$	0.00		760 9.777.5	
		+				
		+				

hips		18	0.50			
/hite		14				
ledallion 4 yr	1	\$	5.00	\$15.00	Robert W Newarmer	3-12-1
bonation				\$1.00	Henermer	1-70-
point						
				10H		

194



### 059134 ORDER

Order no.	059134	Order date	3/9/2021
Order status	Pending	Payment status	Paid
Shipping method	Best Way	Payment method	NAWS Payment Processor
Requested delivery date	3/9/2021		

**BILL-TO ADDRESS** 

**SHIP-TO ADDRESS** 

**Robbie Lee** 

Robbie Lee

295 Barron Chapel Rd.

295 Barron Chapel Rd.

Pineville LA

Pineville LA

71360

71360

**United States** 

**United States** 

Item No.	Title	Status	Price	Quantity	Total
Keytags	Recovery Keytags				
	Recovery Keytags (English, 9 months, Yellow)	Not shipped	\$0.56	8	\$4.48
	Recovery Keytags (English, Multi-year, Black)	Not shipped	\$0.56	10	\$5.60
	Recovery Keytags (English, 6 months, Blue)	Not shipped	\$0.56	10	\$5.60
	Recovery Keytags (English, Welcome, White)	Not shipped	\$0.56	24	\$13.44
1500	NA White Booklet	Not shipped	\$0.80	12	\$9.60
1400	The NA Step Working Guides	Not shipped	\$9.00	3	\$27.00
1150	Living Clean Hardcover	Not shipped	\$10.35	2	\$20.70
1201	Guiding Principles Hardcover	Not shipped	\$11.65	2	\$23.30
1101	Basic Text Hardcover	Not shipped	\$12.15	2	\$24.30
Bronze	Bronze Medallions				

#### 059134 Order | NAWS US Web Store

n No.	Title	Status	Price	Quantity	Total
/	Bronze Medallions (English, 1 year, Bronze)	Not shipped	\$3.40	3	\$10.20
Shipping	Shipping Charges		\$24.52		\$24.52
			Subtotal	\$	168.74
		Tot	Total	\$ \$	168.74 168.74

ASR Report 3/2021 My Name is Robbin L & I am an addict Due to my recent relape I will be stupping back from the ASP possition. I will assist an any way the ASC will need me for. Thanks So, letting me Seree, Robbin L.

march Policy Report There have been no new changes to policy. We will be printing new policy books this month and onco a year after that as per police guidelines. Thank you for letting me be of service. ashley Concoran-

march activities Report Our next big went is Sun, april 11th at the pavilion at Buhlow at noon. We have sold 40 tickets so far for \$400 with several people Still Selling. We will have craubish/corn/potatous & not dogs for kido. we will nout games, music, 50/50 rattle, auction items, Épil in the face auction Olle also howe 2 splakers.

We have most equipment & some donations. Dus main cost will be crawfish, etc. We are in desperate relation boxes to serve crawfish in. For crawhish & foot we will need full activities budget # 400. Thanks for lotting me serve. ashly C-W

# 3/20/21

tley family, Clean's Serene 13 doing well. We 5till have 4 meetings a month at 7pm at River City Clubhouse. We have had good Attendance at our meetings. we have 2 birthdays coming up.

myself on 3/21 with 4years

and sorvise on 5/16 with 3 years. selebration will be on 5/16 at 7pm. Vur area donation ist50.00 for this. month. Thank you for allowing me to server Dustin E. GSR Chean & Serene

Jones stocet has one meeting a Week; Wednesday @ 1pm @ Rivercity clubblass. Afterdance is approximately 10 people. JOE F. 15 celebrating I year on MARCH 31. No AREA denestion. Thanks For Wlowing me to serve. SEF. (centamisc egmail.com)

Him Name is John P. I am an addict, No himil for Recovery is doing good, We have a New book Study out of the How E Why Book on Theday Wisht long pm and a New Zoon Mactine Rivery Saturday at 9 pm who we have cut 10 dongton to Area We having a Acadignize three Pastama Jam 3/27/21 Alex Head Chily Day 14/3/4, Alexandria Area 14/20 th anks In Spm- until Louing Services

John P.

4/3 Spm until

4/24 50m until Harris St

NO MATTER WHAT 03/20/20
Hello Family,
Attendance a our homegroup has been averaging 15-20 addicts we continue to provide dinner for a 5.00 donation every Thinsday from 6-7 pm.
Our home group has voted on a couple of topics. We are all in favor for the establishment of a Cleaning Crew. We also nominated Grey of for literature Chair position in the area.
We have a 20.0 donation to area.
Gre hately Serving.
Groff: D

JAIKing Heals 3-20-21 Dog F- GSR

My NAME is Doug 2Nd I'm an addict. We have Nordonation or esuscience. All we did last night was to go over the treasurer or who opens meetings. We still meet Tuesdays and fridays at 7:00 P.m. with low attendance.

Loving Serving

March 20, 2021 Hay tamily, The Addicts Family is doing good. Meeting attendance is low. The mouth we had a total of 5 people; Our AREA donation this mouth is \$5.00. - Tuank You for allowing me to be of service.

Frank A. GISIZ

3-20-20 Report \$ 2193.62 5torting Bal. 155,00 Hassests 42348,62 420,00 Exp. 928.62 Moune Set asile 1068.67 17,24 - Region dourtin Frddy Bali

motion for PI to investigate the meetings a high noon for not being.

a actual NA registered meeting in the Area.

<b>Motion</b>	#
---------------	---

## CENTRAL AREA N.A. MOTION FORM

Date	
Motion Made ByPosition	on or Group:
Second By	•
Motion Reads:	· · · · · · · · · · · · · · · · · · ·
Intent of Motion:	
Financial Impact on Area: (if applicable)	
	ary's use only
Motion Withdrawn Yes No	
Motion to Table Made by	Second by
Yes No Abstain	Motion to table = Pass Fail
Motion to Amend Made by	Second by
Yes No Abstain	Motion to amend = Pass Fail
Main Motion Yes No	Abstain
Main Motion = Pass	Fail